
25488

OUTDOOR ROLLING 
GARDEN SEAT

INSTRUCTION MANUAL
www.monstershop.co.uk



02

PRODUCT DESCRIPTION
SPECIFICATION

Thank you for purchasing the MonsterShop Outdoor Rolling Garden Seat. 

This highly versatile product is a sturdy and adjustable seat which is perfect for the 
gardening enthusiast. The seat features a 360-swivel chair which allows users to complete 
their gardening quickly and comfortably from a seated position. The sturdy pneumatic 
tyres can also tackle any terrain and allows for smooth movement while maneuvering 
around the outdoors.

In addition, this gardening seat offers ample storage space for transporting any gardening 
equipment to and from the desired location. 

PRODUCT SPECIFICATIONS
Powder Coated Steel Frame – Plastic Tray
47cm (L) x 40cm (W) x 8cm (H)
24cm (W) x 20cm (H) x 11cm (D)
64cm (H) x 40cm (W) x 34cm (D)
17.8KG
10” x 3” Pneumatic Tyres
150KG
360 Degree Swivel Seat With Adjustable Height

MATERIAL:
TRAY DIMENSIONS:
BASKET DIMENSIONS:
OVERALL DIMENSIONS:
WEIGHT:
WHEELS:
MAX LOAD CAPACITY:
SEAT:

ITEM CONTENTS
x Garden Seat Frame
x Pair Of Gardening Gloves
x Wheels
x Seat
x Wire Basket
x Black Tray
x Axle Bar
x Screw Pack
x M10 Nuts
x M8 Nuts

x M6 Nuts
x M8 Bolts
x M10 Crosshead C/S Machine Screws
x M6 Crosshead Machine Screws
x M12 Washers
x M10 Washers
x M8 Washers
x M6 Washers
x M6 Spring Washers
x Green Plates

1
1
4
1
1
1
1
1
4
8

4
4
4
6

16
4

12
6
2
3



03

25488 - OUTDOOR ROLLING GARDEN SEAT

SPECIFICATION
PRODUCT FEATURES

Monster Group UK Limited’s liability will be limited to the commercial value of the 
product only.

A.	 360 Degree Swivel Seat 
B.	 Storage Tray
C.	 Storage Basket
D.	 Pneumatic Tyres
E.	 Steering/Towing Handle

A

B

E

D

C



04

SAFETY ADVICE
SAFE WORKING PRACTICE

Please read through the Safe Working Practice to ensure prevention of injury or 
damage to the device.

Do not use this product for anything other than its intended purposes.

Ensure this product is assembled securely.

Ensure you have read and fully understood the instruction manual and safety advice 
before using this product.

Do not exceed the weight limit - 150KG.

Do not tow this seat with anyone sitting on it.

When using on an incline the wheels should be chocked (chocks not supplied).

Ensure the garden seat is clean before use.

Ensure the garden seat is cleaned after use.

Ensure this product is stored in a safe place.

Ensure that all other materials used with this product are up to standard.



05

25488 - OUTDOOR ROLLING GARDEN SEAT

USER GUIDE
ASSEMBLY INSTRUCTIONS
1. Attach 1 x wheel to each front stub axle using 4 x M12 washers, 1 x M8 washer and 1 x M8 

nut.
2. Slide the axle bar through the rear axle tube and attach using 4 x M12 washers, 1 x M8 

washer and 1 x M8 nut.
3. Attach the steering column to the front cross plate using 1 x M8 bolt, 2 x M8 washers and 

1 x M8 nut.
4. Attach the steering cross piece to the steering column and the steering arms using 3 x 

M8 bolts, 6 x M8 washers and 3 x M8 nuts.
5. Attach the tray using 4 M6 crosshead machine screws, 4 x M6 washers, 2 x green plates 

and 4 x M6 nuts.
6. Attach the basket using 2 x M6 crosshead machine screws, 2 x M6 spring washers, 2 x M6 

washers, 1 x green plate and 1 x M6 nut.
7. Attach the seat to the seat column using 4 M10 crosshead C/S machine screws, 4 M10 

washers and 4 M10 nuts.
8. Screw the seat column into the threaded hole in the frame.

Using the Garden Seat:

1. Tow the seat to the desired location.
2. Adjust the seat to the correct height.
3. Chock the wheels if necessary (chocks not supplied).

After using the Garden Seat:

1. Clean as necessary to remove any mud or leaves etc.
2. Thoroughly dry the Garden Seat before storage.
3. Lubricate all moving parts with a little light oil.

USER GUIDE
OPERATING INSTRUCTIONS



06

TROUBLESHOOTING
RESOLUTION GUIDE

If there appears to be any part missing from your order, contact our friendly and helpful 
Customer Support Team within 7 days of receipt.

WHAT DO I DO IF THERE ARE MISSING PARTS FROM MY ORDER?

The MonsterShop Outdoor Rolling Garden Seat is extremely robust, and if cared for is 
unlikely to suffer any major problems.

Punctures:
Any pneumatic tyre is susceptible to punctures. The tyres on the Outdoor Rolling 
Garden Seat are very strong but it’s possible that they may suffer a puncture in some 
circumstances. If this happens proceed as follows:
1. Remove the affected wheel from the frame. 
2. The wheel is in two halves. Separate these by removing the four nuts and bolts holding 

them together.
3. Once the wheel halves have been removed from the tyre it is possible to access the 

inner tube.
4. Remove the inner tube and locate/repair the puncture exactly as a bicycle inner tube.
5. Push the inner tube back into the tyre.
6. Locate the inflation tube into the hole in the front wheel half.
7. Position the rear wheel half lining up the bolt holes.
8. Bolt the two wheel halves together.
9. Inflate the tyre to a pressure of 30 p.s.i. (2.1 bar).
10. Refit the wheel and secure in place.
                                                                                          

FOR ALL OTHER ISSUES, PLEASE CONTACT OUR
CUSTOMER SUPPORT TEAM.



07



Monster House, Alan Farnaby Way,
Sheriff Hutton Industrial Estate, 
Sheriff Hutton, York, YO60 6PG
www.monstershop.co.uk

Monster Group (UK) is one of the UK’s fastest growing online retailers. We 
supply a diverse range of products which offer exceptional value for money. We 

strive to provide the best possible customer experience with free UK delivery 
across all our products and a Monster Guarantee for 100% satisfaction.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

SUPPORT-ABTEILUNG

Für fragen über dieses gerät, die 
garantie, rückgaben oder bei 

störungen, benutzen sie die folgenden 
unten aufgeführten angaben.

TEL: 01347 878 888
EMAIL: hallo@monstershop.eu

VERKAUFSABTEILUNG

Für Informationen bezüglich dieses 
Geräts oder anderer produkte aus 

unserer Monster-Abteilung, benutzen 
sie die folgenden unten aufgeführten 

angaben.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

DEPARTAMENTO DE SOPORTE

Para consultas sobre este dispositivo, 
la garantía, devoluciones o denuncias 
de fallos por favor use los siguientes 

detalles.

TEL: 01347 878 888
EMAIL: hola@monstershop.eu

DEPARTAMENTO DE VENTAS

Para información sobre este dispositivo 
u otros productos de nuestras 

divisiones de Monster por favor use los 
siguientes detalles.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

DIPARTIMENTO SUPPORTO

Per domande riguardo dispositivo, 
garanzia, reso o per riferire di guasti, 

utilizzare i dettagli sotto riportati.

TEL: 01347 878 888
EMAIL: ciao@monstershop.eu

DIPARTIMENTO VENDITE

Per informazioni riguardanti questo 
dispositivo o altri prodotti dalle 

categorie Monster utilizzare i dettagli 
sotto riportati.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

DÉPARTEMENT DE SOUTIEN

Pour les interrogations concernant cet appareil, la 
garantie, les retours ou les défauts de déclaration 

veuillez utiliser les détails suivants ci-dessous.

TEL: 01347 878 888
EMAIL: bonjour@monstershop.eu

DÉPARTEMENT COMMERCIAL

Pour plus d’informations concernant cet appareil 
ou d’autres produits de nos divisions de Monster 

veuillez utiliser les détails suivants ci-dessous.

TEL: 01347 878 887
EMAIL: help@monstershop.co.uk

SUPPORT

For queries about this device, warranty, returns or 
reporting faults please contact Support.

TEL: 01347 878 888
EMAIL: hello@monstershop.co.uk

SALES

For information regarding this device or other 
products from our Monster divisions please 

contact Sales.

Try Monster. Buy Monster. Be Monster.


